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1. How many protons, neutrons and electrons does 1271 have? (A) 53 protons, 74 neutrons, 54 electrons
(B) 53 protons, 74 neutrons, 53 electrons (C) 53 protons, 74 neutrons, 52 electrons (D) 53 protons, 127
neutrons, 54 electrons (E) 53 protons, 53 neutrons, 54 electrons

2. Ifan acid, HA, is 10 % dissociated in a 1.0M solution, what is Ka for this acid?
(A) 1.1¥102 (B) 9.1*%102 (C)8.1*10°! (D)9.0*102 (E)6.3*1072

3. Which of the following has a zero dipole moment? (A) NH3 (B) NOz (C) SO, (D) H202 (E) PFs

4. Calculate the AHP for the reaction CaHs g + 2Hz @~ C4Hs (), using the following data:
AH? combustion for C4Hy (g) = -2341 KJ/mol
B combustion for Iz (g) = -286 KJ/mol
AH? combustion for C4Hs (g) = -2755 KJ/mol
(A)-128 KJ (B)-158 KJ (C)158 KJ (D) 128 K (B)64 KJ

5. Which one belong to noble gas? (A)H: (B) O, (C)He (D)N2

6. The electron configuration of a nitrogen atom?
(A) 18228%2P% (B) 182258%2P! (C) 18228%2P% (D) 18228%2P* (F) 18%2822P6

7. Which is the main force between molecule NaCl? (A) Ion-dipole interaction (B) Van-der waals
interaction (C) London-dispersion force (D) Dipole-dipole interaction (E) lonic bonding

8. How many chiral centers of following compound? (A)8 (B)7 (C)6 (D)5 (E)4

9. The energy diagram of reaction is: {A) a two-step exothermic (B) a two-step endothermic (C) a one-
step exothermic (D) a one-step endothermic (E) non-energy exchange
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10. The molecular structure of BF3 is? (A) bent line (B) linear (C) trigonal planar (D) tetrahedral
(E)octahedral

11. The two molecules below are (A) diastereomer (B) cis-trans isomer (C) enantiomer (D) rotamer
(E) unrelated
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12. Which atom has the smallest radius? (A) Si (B) P(C) S (D) As (E) Se

13. Which one in the following is not affect by catalyst? (A) rate of the reaction (B) free energy of
transition state (C) the ratio of the forward and reverse rate (D) entropy of the reaction (E) reaction
mechanism

14, The formula of 4-ethyl-2,4-dimethylhexane is (A) CoHig (B) CoHzo (C) CroHzo (D) CioHaz (E) CiiHz

15. Which compound do you expect to have the highest standard molar entropy at 1 atm and 300 K?
(A) Hag) (B) Hegg) (C) N2Osgy (D) CHage) (E)Cralhaagy

16. Which of the following statement is not SI unit? (A) Liter (B) Mole (C) Kilogram (D) Kelvin

17. Which of the foliowing statement about the name of HNOy, H2S03, and HCIO3 is correct?
(A)HNOz: nitric acid, H2SOs: sulfurous acid, HCIO3: chlorous acid
(B)Y HNOz: nitrous acid, H2SOs: sulfurous acid, HCIOs: chloric acid
(CYHNOz: nitric acid, HoSOs: sulfuric acid, HCIO;: hypochlorous acid
(DYHNO2: nitrous acid, H2SOs: sulfuric acid, HCIO;: chloric acid

18. Which of the following ion with a charge of -1? (A) phosphate ion (B) chromate ion (C) sulfate ion
(D) cyanide ion

19. Which of the following bioclogical process DOES NOT involve hydrogen bonding? (A) DNA base
pairing (B)lipid bilayer formation (C) cellulose fiber formation (D) a-helix formation (E) substrate
binding in enzyme

20. Which is the sum of x,y and z in the following balance reaction? (A) 3(BY7(C)10(M)Y12(E) 14

3Cr107 gy + ¥l (agy + 2H gy —> Cr¥* g+ 10570+ 2O

A (58105
1. Write down the functional group of the following organic compound (A)aldehydes (B) ketones
(C) amides (D) esters (F) ethers (& 2 43)

2. Describe (A) the first law of thermodynamic and (B) the second law of thermodynamic (% 5 47)
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